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DU MSc Fabric N Apparel Science

Topic:‐ FAS MSC S2

Which of the following is a term for ready to wear garment?

[Question ID = 671]
1. Haute couture

[Option ID = 2678]
2. Avant garde

[Option ID = 2679]
3. Prêt‐e‐porter

[Option ID = 2680]
4. None of these

[Option ID = 2681]

Correct Answer :‐

Prêt‐e‐porter

[Option ID = 2680]

The process by which thorough removal of impurities is done from the fabric before dyeing and printing is known a

[Question ID = 672]
1. Boiling

[Option ID = 2682]
2. Desizing

[Option ID = 2683]
3. Scouring

[Option ID = 2684]
4. Cleaning

[Option ID = 2685]

Correct Answer :‐

Scouring

[Option ID = 2684]

Which of the following theory assumes that fashion begins in the upper strata of society and the lower classes emulate
the upper class?
[Question ID = 673]

1. Immodesty theory [Option ID = 2686]
2. Trickle down theory [Option ID = 2687]
3. Protection theory [Option ID = 2688]
4. Trickle across theory [Option ID = 2689]

Correct Answer :‐

Trickle down theory [Option ID = 2687]

Which one of the following is not an embroidery stitch used in Kasuti
[Question ID = 674]

1. Murri [Option ID = 2690]
2. Negi [Option ID = 2691]
3. Murgai [Option ID = 2692]
4. Gavanthi [Option ID = 2693]

Correct Answer :‐

Murri [Option ID = 2690]

“Width” and “Inlay” are associated with which component of a garment
[Question ID = 675]

1. Yokes [Option ID = 2694]
2. Sleeves [Option ID = 2695]
3. Pleats [Option ID = 2696]
4. Collars [Option ID = 2697]

Correct Answer :‐
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Pleats [Option ID = 2696]

Texture, shape, and colour are
[Question ID = 676]

1. Principles of design [Option ID = 2698]
2. Elements of design [Option ID = 2699]
3. Factors that influence fit [Option ID = 2700]
4. Fabric and garment qualities [Option ID = 2701]

Correct Answer :‐

Elements of design [Option ID = 2699]

.........are the small, soft folds made by drawing up fabric and stitches either by hand or machine to  introduce fullness
in a garment
[Question ID = 677]

1. Gathers [Option ID = 2702]
2. Sleeves [Option ID = 2703]
3. Yoke [Option ID = 2704]
4. Pleats [Option ID = 2705]

Correct Answer :‐

Gathers [Option ID = 2702]

Talim is a special technique used in the weaving of
[Question ID = 678]

1. Durries [Option ID = 2706]
2. Saris [Option ID = 2707]
3. Shawls [Option ID = 2708]
4. Caps [Option ID = 2709]

Correct Answer :‐

Shawls [Option ID = 2708]

Which of the following is a theory of origin of clothing
[Question ID = 679]

1. Mass dissemination [Option ID = 2710]
2. Trickle up [Option ID = 2711]
3. Modesty theory [Option ID = 2712]
4. Fashion leaders [Option ID = 2713]

Correct Answer :‐

Modesty theory [Option ID = 2712]

Which of the following is not a method of finishing the neckline in a garment?
[Question ID = 680]

1. Shaped facing [Option ID = 2714]
2. Bias binding [Option ID = 2715]
3. Facing [Option ID = 2716]
4. Overlocking [Option ID = 2717]

Correct Answer :‐

Overlocking [Option ID = 2717]

One of these is not a novelty yarn:
[Question ID = 681]

1. Boucle [Option ID = 2718]
2. Cord [Option ID = 2719]
3. Nub [Option ID = 2720]
4. Slub [Option ID = 2721]

Correct Answer :‐

Cord [Option ID = 2719]

The finished openings in a garment which makes putting on and off the garment easier are called as.............
[Question ID = 682]

1. Yoke [Option ID = 2722]
2. Pocket [Option ID = 2723]
3. Placket [Option ID = 2724]
4. Cuff [Option ID = 2725]

Correct Answer :‐

Placket [Option ID = 2724]

The styles in a garment that never become completely obsolete are called
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[Question ID = 683]
1. Fads [Option ID = 2726]
2. Classic [Option ID = 2727]
3. Trend [Option ID = 2728]
4. Custom made [Option ID = 2729]

Correct Answer :‐

Classic [Option ID = 2727]

Which one of the following is a Kashmir embroidery‐
[Question ID = 684]

1. Zalakdozi [Option ID = 2730]
2. Namda [Option ID = 2731]
3. Gabba [Option ID = 2732]
4. Sainchi [Option ID = 2733]

Correct Answer :‐

Zalakdozi [Option ID = 2730]

A type of stand collar is....
[Question ID = 685]

1. Bushirt [Option ID = 2734]
2. Peterpan [Option ID = 2735]
3. Mandarin [Option ID = 2736]
4. Shawl [Option ID = 2737]

Correct Answer :‐

Mandarin [Option ID = 2736]

The diagonal dart running from waistline towards the bust is called a...........
[Question ID = 686]

1. French dart [Option ID = 2738]
2. Fish dart [Option ID = 2739]
3. Waist dart [Option ID = 2740]
4. Bust dart [Option ID = 2741]

Correct Answer :‐

French dart [Option ID = 2738]

Which of the following is not a type of silk?
[Question ID = 687]

1. Tussar Silk [Option ID = 2742]
2. Moth silk [Option ID = 2743]
3. Muga silk [Option ID = 2744]
4. Eri silk [Option ID = 2745]

Correct Answer :‐

Moth silk [Option ID = 2743]

The pockets that are hidden in the seam of a garment are called
[Question ID = 688]

1. Exposed in‐seam [Option ID = 2746]
2. Concealed in‐seam [Option ID = 2747]
3. Slashed [Option ID = 2748]
4. Welt [Option ID = 2749]

Correct Answer :‐

Concealed in‐seam [Option ID = 2747]

The length of garments is generally cut on

[Question ID = 689]
1. Cross grain

[Option ID = 2750]
2. Straight grain

[Option ID = 2751]
3. True bias

[Option ID = 2752]
4. None of these

[Option ID = 2753]

Correct Answer :‐

Straight grain
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[Option ID = 2751]

A seam allowance of a facing used on a concave curve wil require which of the following treatment

[Question ID = 690]
1. Notching

[Option ID = 2754]
2. Clipping

[Option ID = 2755]
3. Easing

[Option ID = 2756]
4. None of these

[Option ID = 2757]

Correct Answer :‐

Clipping

[Option ID = 2755]

Polyester fibre dissolves in:
[Question ID = 691]

1. H SO  [Option ID = 2758]
2. Meta cresol [Option ID = 2759]
3. Conc. Nitric acid [Option ID = 2760]
4. NaoH [Option ID = 2761]

Correct Answer :‐

Meta cresol [Option ID = 2759]

Sericin is found in:
[Question ID = 692]

1. Nylon [Option ID = 2762]
2. Jute [Option ID = 2763]
3. Silk [Option ID = 2764]
4. Wool [Option ID = 2765]

Correct Answer :‐

Silk [Option ID = 2764]

Cross section of cotton fibre shows empty central canal called
[Question ID = 693]

1. Flagella [Option ID = 2766]
2. Ribbons [Option ID = 2767]
3. Lumen [Option ID = 2768]
4. Striations [Option ID = 2769]

Correct Answer :‐

Lumen [Option ID = 2768]

Which types of sleeve is cut in one with the front and back bodice?
[Question ID = 694]

1. Puff [Option ID = 2770]
2. Kimono [Option ID = 2771]
3. Leg‐o‐mutton [Option ID = 2772]
4. Bell [Option ID = 2773]

Correct Answer :‐

Kimono [Option ID = 2771]

An example of a neutral colours is
[Question ID = 695]

1. Blue [Option ID = 2774]
2. White [Option ID = 2775]
3. Red [Option ID = 2776]
4. Silver [Option ID = 2777]

Correct Answer :‐

White [Option ID = 2775]

Woollen felt is an example of
[Question ID = 696]

1. Woven fabric [Option ID = 2778]

2 4
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2. Non woven fabric [Option ID = 2779]
3. Velvet fabric [Option ID = 2780]
4. Knitted fabric [Option ID = 2781]

Correct Answer :‐

Non woven fabric [Option ID = 2779]

 Full form of GSM is
[Question ID = 697]

1. Grams per Square Metre [Option ID = 2782]
2. Grams of Square Meter [Option ID = 2783]
3. Grams of Centimeter [Option ID = 2784]
4. Grams of Silk in Meter [Option ID = 2785]

Correct Answer :‐

Grams per Square Metre [Option ID = 2782]

Which of the following is responsible for producing colour in a dye molecule?

[Question ID = 698]
1. (1) Auxochrome

[Option ID = 2786]
2. (2) Chromophore

[Option ID = 2787]
3. (3) Both 1. & 2.

[Option ID = 2788]
4. (4) None of these

[Option ID = 2789]

Correct Answer :‐

(2) Chromophore

[Option ID = 2787]

An easy means of eliminating bulk at corners is:
[Question ID = 699]

1. Facing [Option ID = 2790]
2. Notching [Option ID = 2791]
3. Mitering [Option ID = 2792]
4. Edge stitching [Option ID = 2793]

Correct Answer :‐

Mitering [Option ID = 2792]

Which of the following methods of spinning is used for spinning of polyester filaments
[Question ID = 700]

1. Dry spinning [Option ID = 2794]
2. Gel spinning [Option ID = 2795]
3. Wet spinning [Option ID = 2796]
4. Melt spinning [Option ID = 2797]

Correct Answer :‐

Melt spinning [Option ID = 2797]

A combination of two or more single yarns plied together is called a
[Question ID = 701]

1. Cord yarn [Option ID = 2798]
2. Ply Yarn [Option ID = 2799]
3. Single Yarn [Option ID = 2800]
4. Complex Yarn [Option ID = 2801]

Correct Answer :‐

Ply Yarn [Option ID = 2799]

…………………………refers to the degree of darkness or lightness of a color

[Question ID = 702]
1. Value

[Option ID = 2802]
2. Hue

[Option ID = 2803]
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3. Intensity

[Option ID = 2804]
4. Chrome

[Option ID = 2805]

Correct Answer :‐

Value

[Option ID = 2802]

Which of these is a secondary property of textile fibres?
[Question ID = 703]

1. Tenacity [Option ID = 2806]
2. Cohesiveness [Option ID = 2807]
3. Resiliency [Option ID = 2808]
4. Uniformity [Option ID = 2809]

Correct Answer :‐

Resiliency [Option ID = 2808]

Which of these products is not usually made of knitted fabric?
[Question ID = 704]

1. Socks [Option ID = 2810]
2. Cardigans [Option ID = 2811]
3. Towels [Option ID = 2812]
4. Swimming costume [Option ID = 2813]

Correct Answer :‐

Towels [Option ID = 2812]

Trade name for shrinkage control treatment used on cotton fabrics
[Question ID = 705]

1. Parchmentization [Option ID = 2814]
2. Sanforization [Option ID = 2815]
3. Decatization [Option ID = 2816]
4. Desizing [Option ID = 2817]

Correct Answer :‐

Sanforization [Option ID = 2815]

Name the gold and silver thread used in the weaving of Brocades
[Question ID = 706]

1. Kalabattun [Option ID = 2818]
2. Pat [Option ID = 2819]
3. Cotton thread [Option ID = 2820]
4. Zari [Option ID = 2821]

Correct Answer :‐

Kalabattun [Option ID = 2818]

Gummy substance that holds the linen fibers together is
[Question ID = 707]

1. Fibroin [Option ID = 2822]
2. Sericin [Option ID = 2823]
3. Wax [Option ID = 2824]
4. Pectin [Option ID = 2825]

Correct Answer :‐

Pectin [Option ID = 2825]

In the process of conducting research ‘Formulation of Hypothesis” is followed by
[Question ID = 708]

1. Statement of Objectives [Option ID = 2826]
2. Analysis of Data [Option ID = 2827]
3. Selection of Research Tools [Option ID = 2828]
4. Collection of Data [Option ID = 2829]

Correct Answer :‐

Selection of Research Tools [Option ID = 2828]

Primary property of textile fibre which refers to adequate strength
[Question ID = 709]

1. Cohesiveness [Option ID = 2830]
2. Flexibility [Option ID = 2831]
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3. Density [Option ID = 2832]
4. Tenacity [Option ID = 2833]

Correct Answer :‐

Tenacity [Option ID = 2833]

French seam is an example of
[Question ID = 710]

1. Plain seam [Option ID = 2834]
2. Flat seam [Option ID = 2835]
3. Ridge seam [Option ID = 2836]
4. Decorative seam [Option ID = 2837]

Correct Answer :‐

Ridge seam [Option ID = 2836]

Following are the types of surface figure weaves
[Question ID = 711]

1. Leno, lappet and Dobby weave [Option ID = 2838]
2. Lappet, Jacquard and Dobby weave [Option ID = 2839]
3. Lappet , spot and Swivel weave [Option ID = 2840]
4. Swivel, pile and Leno weave [Option ID = 2841]

Correct Answer :‐

Lappet , spot and Swivel weave [Option ID = 2840]

Amru is a type of a
[Question ID = 712]

1. Chikankari [Option ID = 2842]
2. Brocade [Option ID = 2843]
3. Kalamkari [Option ID = 2844]
4. Kantha [Option ID = 2845]

Correct Answer :‐

Brocade [Option ID = 2843]

Fabrics created when warp and weft both are dyed in a predetermined pattern and used for creating woven designs
are called
[Question ID = 713]

1. Single ikat [Option ID = 2846]
2. Double ikat [Option ID = 2847]
3. Bandhani [Option ID = 2848]
4. Bandhej [Option ID = 2849]

Correct Answer :‐

Double ikat [Option ID = 2847]

The seam that is stitched from the face of the garment is
[Question ID = 714]

1. Lapped seam [Option ID = 2850]
2. Plain seam [Option ID = 2851]
3. Run and fell seam [Option ID = 2852]
4. French seam [Option ID = 2853]

Correct Answer :‐

Lapped seam [Option ID = 2850]

West Bengal is famous for producing
[Question ID = 715]

1. Jamdani [Option ID = 2854]
2. Chanderi [Option ID = 2855]
3. Brocades [Option ID = 2856]
4. Madhubani [Option ID = 2857]

Correct Answer :‐

Jamdani [Option ID = 2854]

Lifestyle, personality, values and social class are the variables  in the following type of segmentation:
[Question ID = 716]

1. Demographic [Option ID = 2858]
2. Geographic [Option ID = 2859]
3. Behavioural [Option ID = 2860]
4. Psychographic [Option ID = 2861]

Correct Answer :‐
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Psychographic [Option ID = 2861]

Shawl in pair sewn back to back are
[Question ID = 717]

1. Doshala [Option ID = 2862]
2. Odhni [Option ID = 2863]
3. Phulkari [Option ID = 2864]
4. None of these [Option ID = 2865]

Correct Answer :‐

Doshala [Option ID = 2862]

Colourants which have no susbstantivity for substrates are:
[Question ID = 718]

1. Pigments [Option ID = 2866]
2. Disperse dyes [Option ID = 2867]
3. Acid dyes [Option ID = 2868]
4. Direct dyes [Option ID = 2869]

Correct Answer :‐

Pigments [Option ID = 2866]

The two types of man‐made cellulosic fibres are
[Question ID = 719]

1. Viscose Rayon and Acrylic [Option ID = 2870]
2. Viscose Rayon and Acetate [Option ID = 2871]
3. Viscose Rayon and Olefin [Option ID = 2872]
4. Viscose Rayon and Nylon [Option ID = 2873]

Correct Answer :‐

Viscose Rayon and Acetate [Option ID = 2871]

Which of the following is a prerequisite for an appropriate research design?

[Question ID = 720]
1. Reliability

[Option ID = 2874]
2. Useability

[Option ID = 2875]
3. Objectivity

[Option ID = 2876]
4. All of these

[Option ID = 2877]

Correct Answer :‐

All of these

[Option ID = 2877]

Following are the types of knitting needles

A. Spring beard needles
B. Long and short needles
C. Crochet needles
D. Compound needles

Choose the correct answer from the options given below:

[Question ID = 721]
1. A and C  only

[Option ID = 2878]
2. A and B only

[Option ID = 2879]
3. B and C only

[Option ID = 2880]
4. A and D only

[Option ID = 2881]

Correct Answer :‐

A and D only
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[Option ID = 2881]

Which of the following are types of fiber morphology

A. Amorphous
B. Covalent bonds
C. Crystalline
D. Inter polymer bonds

Choose the correct answer from the options given below:

[Question ID = 722]
1. A and B only

[Option ID = 2882]
2. A and C only

[Option ID = 2883]
3. B and C only

[Option ID = 2884]
4. A and D only

[Option ID = 2885]

Correct Answer :‐

A and C only

[Option ID = 2883]

Which of the following are types of balance in a garment?

A. Asymmetrical
B. Symmetrical
C. Transition
D. Opposition

Choose the correct answer from the options given below:

[Question ID = 723]
1. A and C only

[Option ID = 2886]
2. A and B only

[Option ID = 2887]
3. B and C only

[Option ID = 2888]
4. A and D only

[Option ID = 2889]

Correct Answer :‐

A and B only

[Option ID = 2887]

The following are examples of soft trims

A. Lace

B. Beads

C. Ribbon

D. Braids

Choose the correct answer from the options given below:

[Question ID = 724]
1. A, B and  C only

[Option ID = 2890]
2. A, C and D only

[Option ID = 2891]
3. A, B and D only

[Option ID = 2892]
4. B, C and D only
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[Option ID = 2893]

Correct Answer :‐

A, C and D only

[Option ID = 2891]

Correct top and bobbin thread tensions results in balanced stitches formed midway between fabric layers. When the
thread loops are visible towards top layer of fabric, it means :

A. Too much tension on the top thread.
B. Bobbin thread tension is too loose.
C. Top thread tension is too loose.
D. Too much tension on the bobbin thread.

Choose the correct answer from the options given below:

[Question ID = 725]
1. B and C only

[Option ID = 2894]
2. C and D only

[Option ID = 2895]
3. A and B only

[Option ID = 2896]
4. A and D only

[Option ID = 2897]

Correct Answer :‐

A and B only

[Option ID = 2896]

Cities famous as the major international fashion centres of the world

A. Colombo
B. New York
C. Mexico
D. Paris

Choose the correct answer from the options given below:

[Question ID = 726]
1. A and C only

[Option ID = 2898]
2. A and B  only

[Option ID = 2899]
3. B and C only

[Option ID = 2900]
4. B and D only

[Option ID = 2901]

Correct Answer :‐

B and D only

[Option ID = 2901]

Following are the stitches of Chikankari‐

A. Bukhia
B. Negi
C. Murgai
D. Tepchi

Choose the correct answer from the options given below:

[Question ID = 727]
1. A and B only

[Option ID = 2902]
2. B and C only

[Option ID = 2903]
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3. C and  D only

[Option ID = 2904]
4. A and D only

[Option ID = 2905]

Correct Answer :‐

A and D only

[Option ID = 2905]

Dart equivalents used in the garment are

A. Gathers
B. Facing
C. Binding
D. Pleats

Choose the correct answer from the options given below:

[Question ID = 728]
1. A and C only

[Option ID = 2906]
2. A and B only

[Option ID = 2907]
3. B and C only

[Option ID = 2908]
4. A and D only

[Option ID = 2909]

Correct Answer :‐

A and D only

[Option ID = 2909]

Characteristics of Masulipatnam Kalamkaris ‐

A. Pen or Brush work
B. Hand block work
C. Mythological tales
D. Persian Motifs

Choose the correct answer from the options given below:

[Question ID = 729]
1. A and C only

[Option ID = 2910]
2. B and C only

[Option ID = 2911]
3. B and D only

[Option ID = 2912]
4. A and D only

[Option ID = 2913]

Correct Answer :‐

B and D only

[Option ID = 2912]

Which of the following are a merchandise category

A. Fashion
B. SKU
C. Staple
D. Specialty

Choose the correct answer from the options given below:

[Question ID = 730]
1. A and B only

[Option ID = 2914]
2. B and D only
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[Option ID = 2915]
3. A and C only

[Option ID = 2916]
4. C and D only

[Option ID = 2917]

Correct Answer :‐

A and C only

[Option ID = 2916]

Following are the types of direct yarn numbering system

A. Tex
B. Cotton Count
C. Wool Count
D. Denier

Choose the correct answer from the options given below:

[Question ID = 731]
1. A and B only

[Option ID = 2918]
2. A and D only

[Option ID = 2919]
3. B and  C only

[Option ID = 2920]
4. C and D only

[Option ID = 2921]

Correct Answer :‐

A and D only

[Option ID = 2919]

Types of wedding phulkaris are

A. Chope
B. Suber
C. Lep
D. Chakla

Choose the correct answer from the options given below:

[Question ID = 732]
1. A and B  only

[Option ID = 2922]
2. C and D only

[Option ID = 2923]
3. B and D only

[Option ID = 2924]
4. B and C only

[Option ID = 2925]

Correct Answer :‐

A and B  only

[Option ID = 2922]

Jamdanis, the decorated muslins are also referred to as the

A. Jamawar
B. Sharbati
C. Abrawan
D. Baluchari

Choose the correct answer from the options given below:

[Question ID = 733]
1. A and B only

[Option ID = 2926]
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2. C and D only

[Option ID = 2927]
3. B and D only

[Option ID = 2928]
4. B and C only

[Option ID = 2929]

Correct Answer :‐

B and C only

[Option ID = 2929]

Which of the following combination of stitches are used in Kashida embroidery?

A. Chain stitch and herringbone
B. Chain stitch and Satin stitch
C. Stem stitch and Darning stitch
D. Chain stitch and Stem stitch

Choose the correct answer from the options given below:

[Question ID = 734]
1. A and C only

[Option ID = 2930]
2. B and D only

[Option ID = 2931]
3. A and B only

[Option ID = 2932]
4. A and D only

[Option ID = 2933]

Correct Answer :‐

B and D only

[Option ID = 2931]

Dabu, is a resist paste that comprises of  ‐

A. Lal mitti, wheat flour
B. Lime and gum
C. Kallimitti,  wheat flour
D. Vinegar and gum

Choose the correct answer from the options given below:

[Question ID = 735]
1. A and B  only

[Option ID = 2934]
2. B and C only

[Option ID = 2935]
3. C and D only

[Option ID = 2936]
4. A and D only

[Option ID = 2937]

Correct Answer :‐

B and C only

[Option ID = 2935]

Following are the common types of Phulkari ‘Baghs’

A. Thirma
B. Darshan dwar
C. Suber
D. Panchranga

Choose the correct answer from the options given below:
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[Question ID = 736]
1. A and B only

[Option ID = 2938]
2. C and D only

[Option ID = 2939]
3. B and D only

[Option ID = 2940]
4. B and C only

[Option ID = 2941]

Correct Answer :‐

A and B only

[Option ID = 2938]

Methods for direct style of printing include

A. Block printing
B. Batik
C. Roller printing
D. Kalam

Choose the correct answer from the options given below:

[Question ID = 737]
1. A and B only

[Option ID = 2942]
2. A and C only

[Option ID = 2943]
3. A and D only

[Option ID = 2944]
4. B and D only

[Option ID = 2945]

Correct Answer :‐

A and C only

[Option ID = 2943]

Formation of pills is more pronounced in

A. Polyester
B. Acrylic
C. Cotton
D. Jute

Choose the correct answer from the options given below:

[Question ID = 738]
1. A and B  only

[Option ID = 2946]
2. A and C only

[Option ID = 2947]
3. A and D only

[Option ID = 2948]
4. B and D only

[Option ID = 2949]

Correct Answer :‐

A and B  only

[Option ID = 2946]

Some basic/ preparatory finishes given to wool fabric includes:

A. Carbonising
B. Mercerisation
C. Decating
D. Crabbing
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70)  

71)  

72)  

Choose the correct answer from the options given below

[Question ID = 739]
1. A, B and  C  only

[Option ID = 2950]
2. A, B and D only

[Option ID = 2951]
3. B, C and D only

[Option ID = 2952]
4. A, C and D only

[Option ID = 2953]

Correct Answer :‐

A, C and D only

[Option ID = 2953]

Various types of pockets found in garments are

A. Patch
B. In‐seam
C. Slash
D. Fly

Choose the correct answer from the options given below:

[Question ID = 740]
1. A, B and C only

[Option ID = 2954]
2. B, C and D only

[Option ID = 2955]
3. A, B and D only

[Option ID = 2956]
4. A, C and D only

[Option ID = 2957]

Correct Answer :‐

A, B and C only

[Option ID = 2954]

The different types of retail organizations are:

A. Chain retailers
B. Single store retailers
C. Department stores
D. Mall Space

Choose the correct answer from the options given below:

[Question ID = 741]
1. B, C and D only

[Option ID = 2958]
2. A, C  and D only

[Option ID = 2959]
3. A, B and C only

[Option ID = 2960]
4. A, B and D only

[Option ID = 2961]

Correct Answer :‐

A, B and C only

[Option ID = 2960]

Pile weave is found in

A. Terry towel
B. Velvet
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73)  

74)  

75)  

C. Corduroy
D. Denim

Choose the correct answer from the options given below:

[Question ID = 742]
1. A, B and C only

[Option ID = 2962]
2. A, B and D only

[Option ID = 2963]
3. B, C and D only

[Option ID = 2964]
4. A, C and D only

[Option ID = 2965]

Correct Answer :‐

A, B and C only

[Option ID = 2962]

Cutting equipments used in the apparel industry are

A. Hand shears
B. Band knife
C. L square
D. Straight knife

Choose the correct answer from the options given below:

[Question ID = 743]
1. A, B and D only

[Option ID = 2966]
2. A, B and C only

[Option ID = 2967]
3. B, C and D only

[Option ID = 2968]
4. A, C and D only

[Option ID = 2969]

Correct Answer :‐

A, B and D only

[Option ID = 2966]

Number of harnesses that may be used for the construction of twill weave fabrics

A. Two
B. Three
C. Four
D. Five

Choose the correct answer from the options given below:

[Question ID = 744]
1. A, B and C only

[Option ID = 2970]
2. A, B and D only

[Option ID = 2971]
3. B, C and D only

[Option ID = 2972]
4. A, C and D only

[Option ID = 2973]

Correct Answer :‐

B, C and D only

[Option ID = 2972]

Following are some special purpose finishes applied to fabrics :
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76)  

77)  

A. Desizing
B. Flocking
C. Antistatic
D. Antimicrobial

Choose the correct answer from the options given below:

[Question ID = 745]
1. A, B and Conly

[Option ID = 2974]
2. B, C and D only

[Option ID = 2975]
3. A, B and D only

[Option ID = 2976]
4. A, C and D only

[Option ID = 2977]

Correct Answer :‐

B, C and D only

[Option ID = 2975]

Which are  types  of Gujarat embroidery

A. Mochi bharat 

B. Menthi

C. Sindhi taropa

D. Heer bharat

Choose the correct answer from the options given below:

[Question ID = 746]
1. A, B and C only

[Option ID = 2978]
2. A, C and D only

[Option ID = 2979]
3. A, B and D only

[Option ID = 2980]
4. B, C and D only

[Option ID = 2981]

Correct Answer :‐

A, C and D only

[Option ID = 2979]

Underlinings are used in garments to

A. Give support and body to garment fabric and design
B. Enable construction of pleats
C. Give opaqueness to garment fabric
D. Provide warmth

Choose the correct answer from the options given below:

[Question ID = 747]
1. A, C and D only

[Option ID = 2982]
2. A, B and C only

[Option ID = 2983]
3. B, C and D only

[Option ID = 2984]
4. A, B and D only

[Option ID = 2985]

Correct Answer :‐

A, C and D only
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78)  

79)  

80)  

[Option ID = 2982]

The following are included in a designer worksheet

A. The sizes in which the design will be made
B. MRP of the garment
C. A short description of the garment
D. A working sketch

Choose the correct answer from the options given below:

[Question ID = 748]
1. A, B and C  only

[Option ID = 2986]
2. A, C and D only

[Option ID = 2987]
3. B, C and D only

[Option ID = 2988]
4. A, B and D only

[Option ID = 2989]

Correct Answer :‐

A, C and D only

[Option ID = 2987]

The factors kept in mind for selection of ready‐made garments include:

A. Appearance
B. Fit
C. Workmanship
D. Advertising

Choose the correct answer from the options given below:

[Question ID = 749]
1. A, B and C only

[Option ID = 2990]
2. B, C and D only

[Option ID = 2991]
3. A, B and D only

[Option ID = 2992]
4. A, C and D only

[Option ID = 2993]

Correct Answer :‐

A, B and C only

[Option ID = 2990]

Following are the resist agents used in batik

A. Borax
B. Paraffin wax
C.Bees wax
D.Clamps

Choose the correct answer from the options given below:

[Question ID = 750]
1. A, B and C only

[Option ID = 2994]
2. A, B and D only

[Option ID = 2995]
3. B, C and D only

[Option ID = 2996]
4. A, C and D only

[Option ID = 2997]
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81)  

82)  

83)  

Correct Answer :‐

A, B and C only

[Option ID = 2994]

Dye Classes used for cotton fibres

A. Direct Dyes
B. Acid Dyes
C. Reactive Dyes
D. Azo Dyes

Choose the correct answer from the options given below:

[Question ID = 751]
1. A, B and C only

[Option ID = 2998]
2. A, B and D only

[Option ID = 2999]
3. A, C and D only

[Option ID = 3000]
4. B, C and D only

[Option ID = 3001]

Correct Answer :‐

A, C and D only

[Option ID = 3000]

Which of the following are primary motions on the loom?

A. Picking
B. Battening
C. Shedding
D. Taking up and letting off

Choose the correct answer from the options given below:

[Question ID = 752]
1. A, B and D only

[Option ID = 3002]
2. A, B and C only

[Option ID = 3003]
3. D, C and A only

[Option ID = 3004]
4. B, D and C only

[Option ID = 3005]

Correct Answer :‐

A, B and C only

[Option ID = 3003]

The  steps involved in spinning of woollen yarn include

A. Carding
B. Ginning
C. Carbonising
D. Scouring

Choose the correct answer from the options given below:

[Question ID = 753]
1. A, B and C only

[Option ID = 3006]
2. A, B and D only

[Option ID = 3007]
3. A, C and D only

[Option ID = 3008]
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84)  

85)  

86)  

4. B, C and D only

[Option ID = 3009]

Correct Answer :‐

A, C and D only

[Option ID = 3008]

Which of the following are printing operations

A. After wash
B. Drying
C. Exhaustion
D. Fixation

Choose the correct answer from the options given below:

[Question ID = 754]
1. A, B and C only

[Option ID = 3010]
2. A, C and D only

[Option ID = 3011]
3. A, B and D only

[Option ID = 3012]
4. B, C and D only

[Option ID = 3013]

Correct Answer :‐

A, B and D only

[Option ID = 3012]

The French curve is not helpful in

A. Marking a corner
B. Measuring crotch depth
C. Marking neckline
D. Measuring length of curved lines.

Choose the correct answer from the options given below:

[Question ID = 755]
1. A, B and D only

[Option ID = 3014]
2. A, B and C only

[Option ID = 3015]
3. B, C and D only

[Option ID = 3016]
4. A, C and D only

[Option ID = 3017]

Correct Answer :‐

A, B and D only

[Option ID = 3014]

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R   

Assertion A: Cotton has high moisture uptake
Reason R: It has greater amorphous regions          

In light of the above statements, choose the most appropriate answer from the options given below          

[Question ID = 756]
1. Both A and R are correct and R is the correct explanation of A

[Option ID = 3018]
2. Both A and R are correct but R is NOT the correct explanation of A

[Option ID = 3019]
3. A is correct but R is not correct

[Option ID = 3020]
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87)  

88)  

89)  

4. A is not correct but R is correct

[Option ID = 3021]

Correct Answer :‐

Both A and R are correct and R is the correct explanation of A

[Option ID = 3018]

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R 

Assertion A:  Decorative yoke can be cut on any grain of the fabric.       
Reason R: It supports the weight of the garment.             

In light of the above statements, choose the most appropriate answer from the options given below       

[Question ID = 757]
1. Both A and R are correct and R is the correct explanation of A

[Option ID = 3022]
2. Both A and R are correct and R is NOT the correct explanation of A

[Option ID = 3023]
3. A is correct but R is not correct

[Option ID = 3024]
4. A is not correct but R is correct

[Option ID = 3025]

Correct Answer :‐

A is correct but R is not correct

[Option ID = 3024]

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R 

Assertion A:  Ikats are the traditional resist dyed textiles of India           
Reason R:  They are called resist dyed because certain areas of fabric are resisted from entry of dyes.

In light of the above statements, choose the most appropriate answer from the options given below          

[Question ID = 758]
1. Both A and R are correct and R is the correct explanation of A

[Option ID = 3026]
2. Both A and R are correct and R is NOT the correct explanation of A

[Option ID = 3027]
3. A is correct but R is not correct

[Option ID = 3028]
4. A is not correct but R is correct

[Option ID = 3029]

Correct Answer :‐

A is correct but R is not correct

[Option ID = 3028]

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R 

Assertion A:  Heavy fabrics like denim will require a bigger stitch size while machine stitching
Reason R:  As the fabric weight increases, stitch length also increases          

In light of the above statements, choose the most appropriate answer from the options given below          

[Question ID = 759]
1. Both A and R are correct but R is NOT the correct explanation of A

[Option ID = 3030]
2. Both A and R are correct and R is the correct explanation of A

[Option ID = 3031]
3. A is correct but R is not correct

[Option ID = 3032]
4. A is not correct but R is correct

[Option ID = 3033]
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90)  

91)  

92)  

Correct Answer :‐

Both A and R are correct and R is the correct explanation of A

[Option ID = 3031]

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R 

Assertion A:  In Banaras brocades, the designs are first worked on cloth by Nakshabandh. This process is called Bhanjni.
Reason R:   As the brocade designs are very elaborate and complex, they are first made on a graph paper          

In light of the above statements, choose the most appropriate answer from the options given below          

[Question ID = 760]
1. Both A and R are correct and R is the correct explanation of A

[Option ID = 3034]
2. Both A and R are correct but R is NOT the correct explanation of A

[Option ID = 3035]
3. A is correct but R is not correct

[Option ID = 3036]
4. A is not correct but R is correct

[Option ID = 3037]

Correct Answer :‐

A is not correct but R is correct

[Option ID = 3037]

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R 

Assertion A:   Manmade fibers have problem of static buildup          
Reason R:    Manmade fibers have excellent moisture regain         

In light of the above statements, choose the most appropriate answer from the options given below   

[Question ID = 761]
1. Both A and R are correct and R is the correct explanation of A

[Option ID = 3038]
2. Both A and R are correct and R is NOT the correct explanation of A

[Option ID = 3039]
3. A is correct but R is not correct

[Option ID = 3040]
4. A is not correct but R is correct

[Option ID = 3041]

Correct Answer :‐

A is correct but R is not correct

[Option ID = 3040]

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R 

Assertion A:    Spandex is used in apparel items like active sportswear.
Reason R:  It has poor stretchability with good resistance to heat and perspiration.           

In light of the above statements, choose the most appropriate answer from the options given below       

[Question ID = 762]
1. Both A and R are correct and R is the correct explanation of A

[Option ID = 3042]
2. Both A and R are correct but R is NOT the correct explanation of A

[Option ID = 3043]
3. A is correct but R is not correct

[Option ID = 3044]
4. A is not correct but R is correct

[Option ID = 3045]

Correct Answer :‐

A is correct but R is not correct

[Option ID = 3044]
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93)  Match List I with List II

List I List II

A. Course I. Collar

B. Bias II. Draping

C. Shawl III. 45 degrees to warp and weft

D. Body form IV. Knit Fabric

 

Choose the correct answer from the options given below:

[Question ID = 763]

94)  

95)  

[Question ID = 763]
1. A ‐ III, B ‐IV, C ‐I , D ‐ II

[Option ID = 3046]
2. A ‐ IV, B ‐III , C ‐I , D ‐ II

[Option ID = 3047]
3. A ‐ II, B ‐ III, C ‐ I, D ‐ IV

[Option ID = 3048]
4. A ‐I, B ‐IV, C ‐II , D ‐ III

[Option ID = 3049]

Correct Answer :‐

A ‐ IV, B ‐III , C ‐I , D ‐ II

[Option ID = 3047]

Match List I with List II.

List I List II

A. Satdalpadma I. Temple entrance

B. Asharfi II. Heart shaped motif

C. Gopuram III. Circular floral motif

D. Pan buti IV. 100 petal lotus

 

Choose the correct answer from the options given below:

[Question ID = 764]
1. A ‐I, B ‐II, C ‐III, D ‐ IV

[Option ID = 3050]
2. A ‐I, B ‐ III, C ‐ II, D ‐ IV

[Option ID = 3051]
3. A ‐IV, B ‐I, C ‐ III, D ‐ II

[Option ID = 3052]
4. A ‐IV, B ‐III, C ‐I, D ‐ II

[Option ID = 3053]

Correct Answer :‐

A ‐IV, B ‐III, C ‐I, D ‐ II

[Option ID = 3053]

Match List I with List II.

List I List II

A. Diagonal basting I. Permanent stitch

B. Hemming II. Functional as well as decorative

C. Herringbone stitch III. Temporary stitch

D. Buttonhole stitch IV. Decorative stitch

 

Choose the correct answer from the options given below:

[Question ID = 765]
1. A‐ II, B‐ I, C‐ IV, D‐ III

[Option ID = 3054]
2. A ‐ I, B ‐II, C ‐IV, D ‐ III

[Option ID = 3055]
3. A ‐ III, B ‐ I, C ‐IV , D ‐ II
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96)  

97)  

98)  

[Option ID = 3056]
4. A‐II, B ‐ I, C ‐ III, D ‐ IV

[Option ID = 3057]

Correct Answer :‐

A ‐ III, B ‐ I, C ‐IV , D ‐ II

[Option ID = 3056]

Match List I with List II  

Match the apparel construction terms in column I to their descriptions in column II                     

List I List II

A. Bias binding I. To retain the shape

B. Ease II. Finishing the raw edges

C. Notches
III. Extra measurement over and above actual

measurement

D. Stay

stitching
IV. Removing extra fullness from the allowance of the

seam

 

Choose the correct answer from the options given below:

[Question ID = 766]
1. A ‐ I, B ‐ II, C ‐III , D ‐ IV

[Option ID = 3058]
2. A‐II, B ‐I , C ‐ III, D ‐ IV

[Option ID = 3059]
3. A‐II, B ‐III, C ‐IV, D ‐ I

[Option ID = 3060]
4. A ‐ IV, B ‐III, C ‐ I, D ‐ II

[Option ID = 3061]

Correct Answer :‐

A‐II, B ‐III, C ‐IV, D ‐ I

[Option ID = 3060]

Match List I with List II               

List I List II

A. Union dyeing I. Purl

B. Tie & Dye II. Cotton

C. Mercerization III. Blends

D. Weft knit IV. Marbling

 

Choose the correct answer from the options given below:

[Question ID = 767]
1. A ‐ III, B ‐IV, C ‐ II, D ‐ I

[Option ID = 3062]
2. A‐II, B ‐IV, C ‐ I, D ‐ III

[Option ID = 3063]
3. A‐III, B ‐II, C ‐ I, D ‐ IV

[Option ID = 3064]
4. A‐II‐, B ‐III, C ‐IV, D ‐ I

[Option ID = 3065]

Correct Answer :‐

A ‐ III, B ‐IV, C ‐ II, D ‐ I

[Option ID = 3062]

Match List I with List II

Match the fibre class given in column I with their examples in column II                  

List I List II

A. Seed hair I. Rayon
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99)  

100)  

B. Bast II. Silk

C. Regenerated III. Jute

D. Insect IV.Cotton

 

Choose the correct answer from the options given below:

[Question ID = 768]
1. A ‐IV , B ‐III , C ‐I , D ‐ II

[Option ID = 3066]
2. A‐II, B ‐I, C ‐IV , D ‐ III

[Option ID = 3067]
3. A ‐ IV, B ‐I , C ‐II , D ‐ III

[Option ID = 3068]
4. A ‐I , B ‐II , C ‐III , D ‐ IV

[Option ID = 3069]

Correct Answer :‐

A ‐IV , B ‐III , C ‐I , D ‐ II

[Option ID = 3066]

Match List I with List II   

Match the items given in List  I with their meaning in List  II                        

List I List II

A. Godet
I. Fabric piece attached to enlarge/ strengthen under sleeve/

crotch

B. Gusset II. Short flare attached to the waist of a garment

C.

Peplum
III. Triangular inserts attached in a dress from the waist

D. Gores IV. Panels in a garment

 

Choose the correct answer from the options given below:

[Question ID = 769]
1. A ‐ III, B ‐ II , C ‐ IV , D ‐ I

[Option ID = 3070]
2. A ‐ II, B ‐ IV, C ‐ I, D ‐ III

[Option ID = 3071]
3. A ‐ III, B ‐ I, C ‐ II, D ‐ IV

[Option ID = 3072]
4. A ‐ II, B ‐ III, C ‐ IV, D ‐ I

[Option ID = 3073]

Correct Answer :‐

A ‐ III, B ‐ I, C ‐ II, D ‐ IV

[Option ID = 3072]

Match List I with List II 

Match the items in List I to appropriate entries in List II                                   

List I List II

A. Weaving I. Separation of cotton fibres from seeds

B. Spinning II. Basic unit of textiles

C. Fibre III. Process of making yarn from fibres

D. Ginning fabric
IV. process of arranging two sets of yarns together to

make a fabric

 

Choose the correct answer from the options given below:

[Question ID = 770]
1. A ‐ IV, B ‐ III, C ‐ I, D ‐ II

[Option ID = 3074]
2. A ‐ II, B ‐ I, C ‐ IV , D ‐ III
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[Option ID = 3075]
3. A ‐ IV, B ‐ I, C ‐ II, D ‐ III

[Option ID = 3076]
4. A ‐ IV, B ‐ III, C ‐ II, D ‐ I

[Option ID = 3077]

Correct Answer :‐

A ‐ IV, B ‐ III, C ‐ II, D ‐ I

[Option ID = 3077]
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